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This one knew about the ‘leap’ month — @77 Y M2 »T T

OVERVIEW

The mwn teaches us that if one witness testifies that the act took place on the
second of the month and the other testifies that it took place on the third
(nevertheless) it is a valid testimony. The mwn explains; for one witness (who said
the second) knew the previous month was a ‘leap” month and the other (who said
the third) did not know it was a leap month. Therefore they do not contradict each
other. N190IN has a difficulty understanding that based on this conjecture we accept
their testimony even in capital crimes and execute the person! moo1n will explain
that there is more supporting evidence to reconcile their statements.

*
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And the ruling would be the same if the X723 would have said, this one
(witness) knew that the previous month was lacking a day (it consisted of twenty nine

days) and therefore he said the later date (the third of the month) -
= 190 90N 9aYY YINT Y19 XD NNy

And this other witness did not know that the previous month was lacking a day
(he thought it consisted of thirty days) and therefore he said the earlier date (by one day; the
second of the month).

mooIn asks:>
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And the X''2>9 asks; and what if we would have investigated these witnesses

and realized -
— NYNNI MTY 1Y "N WIN Y 1993933 YT 19N INT

That both of them knew about the ‘leap month’, and then it would be a

contradicted testimony and it would not be acceptable -
— 111902 7599 5907 KPI9DN VPN DIP TIN)

And so how can we act and Kkill the accused even though there is a doubt that

! moon states that this rule (if one says the second and the other says the third it is a proper M) is valid not only if
the previous month was a 7121w» w71 (and one of the witnesses was not aware of it), but also if the previous w71 was
a 1on (for we assume that one 7¥ thought it was a 712wn). See ‘Thinking it over’ # 1.

? See “Thinking it over’ # 5.

% X,2° 77. Later X217 challenges »ax (who maintains that a person may be mistaken up to slightly more than an hour)
that if we would investigate the 07y we may realize that the difference between myw wow and myw wnn is almost
three hours; so how could we punish the accused if there is a possibility of a contradiction.

1

TosfosInEnglish.com



71 7"7'0n 2,80 2°nod .7"'02

perhaps there is no valid testimony against him; for this is what the X723 shortly

asks that we cannot kill a person if there is possibility that it is an nwnm Mm7y. The question of
mooIn is that instead of assuming that one made a mistake w77 2w 1M2°v3, let us investigate them
and find out if this is indeed so, and if not it is an NWH2M NITY.

mMooIN anticipates a possible solution to his question:
—*Nonn 7997 (x,00 pr7m) 9990 )2 D937 2) Y 9N

Even though that in 9712 777 299 the X1 infers from this mwn» of w2 oawa X MR
"o -

— *RNTYT NTIOYA ST S 1aY SWPNT KT
That most people are apt to make a mistake concerning w777 912%, and
therefore we follow the 217, and that is why here too we are permitted to kill him on the basis of
their testimony, since 217 people make this mistake, so we will assume that these M7y also made
this mistake and if we will investigate them it is very likely (217) that they did make a mistake —

mooIn rejects this approach:
— 0N PTPTI ON 1209 NN DIPN Yon

For nevertheless what will we lose if we will investigate them? Granted that there
is a 210, but if we can ascertain it positively, that is surely preferable over a 217. The question
remains why we do not ask the witnesses if they are aware of the w7In7 M12°v.

N1B0IN answers:
— 1PN BYY 23997 *D1 AN INY S95WT 113 999 11 135755F XINT 92)9 U

And one can say; that here we indeed investigate them properly, for since we
ask them on what day of the week did it occur and their testimony coincides on
the same day of the week, it is therefore -

— Y1 ND DTV NN ¥NIVY
evident from this that this one (who gave the later date) did not know about the

wnin 9w 82y, The answer of mooin is that asking on which day of the week it occurred is
tantamount to asking them if they are X117 xM2°v2 *pa.’

* The xn3 there attempted to prove from this 71w» that we follow the 211 even by mws3 *»7. This explains why in
our 711wn it is a proper MY, since 211 people are 7Y concerning W7 MN2°y. See ‘Thinking it over’ # 3.

3 This would differentiate our case (where there is a 1) from the case of the X3 later when it asks Jp™7 ¥°X 1m0
for there, there is no 211 as to what they meant [whether it is 7¥ws nonn2 or avwsa 0] (it is only a possibility),
therefore we can ask 11°7>>7 Y2°X, however here there is a 211 that supports this contention that they were ¥M2°y2 7y
X177, therefore we can depend on this 217 and not be p>71. However, maoin rejects this line of reasoning.

® There are seven N11°p1; one of them is that we ask them on which day of the week did the incident occur.

7 See ‘Thinking it over # 2.
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mooIn anticipates a difficulty; how can the X3n3 in 9710 72 prove that we follow the 217 by 17
mws1, perhaps the reason we kill him is because we ascertain with certainty that one was not *p2
X777 871292 by verifying the day of the week?!

mooin replies:
— YD) 93572 N2 N2 1TINT NI (ow) TV 132 NN 99V DIPN I

But nevertheless the X773 in 972 33 P92 properly infers from this 71wn that we

follow the 211 even in N1 5197; the 217 in this case being that -
— N2 9N )0IN ND INT NN N2V '¥0 N2IYT

Most people are mistaken about 897 X912%y; for if we would not follow the

219 by mwa1°1°7, then -
— PPUNIM N%Y NN T HWHYA 9DIN AT DY 9IIN NTY ))%D

As soon as one said the second of the month and the other said on the third of
the month (and if we do not follow the 217 who are Xm7°7 X112°Y2 °Y0, since it 1s "7

mwsl, then) they immediately become contradictory witnesses -
— 59531 NN Y NN AR BY B2ININ V71 599

And the fact that later they coincide to one day, that is considered a reversal of
testimony which is not accepted.

moon proves that when there is no 211 and they contradict each other, the M7y cannot be
resurrected on the basis of a later coinciding.
— 4PN DY 2NNV 29 DY GN NHVA JIMTY /N2 IIIN THNRY /)3 9IIN 1NN NNT Y19

You will know that this is so, for if one witness claims it happened on the third
of the month and the other claims on the fifth, their testimony is nullified even

though that subsequently they coincide as to the same day of the week; nevertheless
it is meaningless -
S0 AN 1ND 12%2WNY SYWION PO KD 99125 Y9NaT D919 %YWA IPVT )399IN KD

And we do not say that perhaps they made a mistake concerning two 2°712%y
(since they agree as to the weekday) and therefore they are two month days apart.
The reason we do not assume so is because people are not mistaken concerning

two 2°712% (only one M2°V) and we consider them as revising their testimony.
Their first testimony which was two days apart indicates that their testimony is contradictory (for
there is no 2171 which can reconcile it); when they later offer the same weekday, we consider it a
new and different testimony. Witnesses, however, cannot revise their testimony.

¥ Once 07 offer their testimony they cannot reverse it. If there is no *yu7 X217, then their contradictory testimony
cannot be revived. However if there is a “yv7 X217, then when they said 21 '2 respectively there was no contradiction,
and when they were TnX 07 1132, that is considered as if we verified it positively that they were indeed XM2°v2 >y
N7
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SUMMARY

A contradictory testimony (‘72 X 71 A2 M 77) cannot be reconciled by a
subsequent testimony (¥12w2 71X 1), for it is considered 71 1. However if the
initial contradictory testimony (32 72X AN '22 IR 77T) can be reconciled on its own
by assuming the 217 people make this error (X777 ¥712°¥2 “YY X217), the testimony
is not considered contradictory (for Mws1 °1°72 2177 AR PI71), and is accepted if it
is later verified that indeed it was not contradictory (by ¥12w:1 219 2°111010).

THINKING IT OVER
1. Is it more likely to mistake a 701 w7 for a 712w»n WTIN than to mistake a W7
92'9» for a “on wnn?’

2. Instead of asking the 2°7¥ in which weekday it occurred, let 7"°2 ask them if they
are aware of w7 my»ap?'?

3. mooIn cites the X3 which states that X777 X272 WOT 772y "WIRT X217; does
that mean that most people make a mistake concerning w73 M2°¥?! In the case of
wTIna M2 there are two options either it was 7297 or it was not. It 1s difficult to
assume that when there are two choices, we should assume that most people make
the wrong choice!"’

4. In the m7°pn of 0°7¥ do they ask first, in which day of the week did it occur, or in
which day of the month?"?

5. Is there a connection between the beginning of NMoon (that 77 XM concerning
W P Pon2 7 X9) and the subsequent question of J1°p7 1K 2"

® See n'"vx.

19 See 1910 onn.

' See (3 MR 'R 7Y) 07728 NONA.
12 5ee 1.

3 See wn M.
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